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&AL | SN K4 77 b A > |GROSS| HDCP | NET | crosswifi fi NEAZ | I K4 77 k| A > |GROSS| HDCP | NET |crossifr %
1R ' 41 42 83 12.0 | 71.0 9 3L RE B5F] 48 53| 101/25.2 |75.8 44
2|8 Nz 39 43| 82/10.8 | 71.2 7 2RM #= 45 43| 88/12.0 | 76.0 16
3Lk HE 41 39| 80| 8.4 |71.6 4 33AE TEA 46 47| 93/16.8 | 76.2 33
4R K 35 44 79| 7.2 |71.8 3 34T O T 44 49 93| 16.8 | 76. 2 34
5|EAR W 52 45 97| 25.2 | 71.8 39 35| sH 22 45 45 90| 13.2 |76.8 28
6| EA F 38 39| 77 4.8 |72.2 1 36| ZIE 49 46|  95/18.0 | 77.0 36
TR ok 40 42 82| 9.6 [72.4 6 3TAA Fnt 47 48 95/ 18.0 | 77.0 37
8| ILT ik 39 41 80| 7.2 |72.8 5 38| LR 22 57 56| 113/36.0 | 77.0 54
9| =JH FH 41 50/  91[18.0 | 73.0 30 39| Rk FE— 50 38  88/10.8 | 77.2 14
10| —¥f Stk 41 37 78| 4.8 |73.2 2 40| TH ERE 41 46 87| 9.6 |77.4 13
11KE it 49 41 90| 16.8 | 73.2 24 41| ks 1IERA 50 42| 92| 14.4 | 77.6 31
12\ H Pt 42 42 84(10.8 | 73.2 11 42|53 B 49 49 98] 20.4 | 77.6 42
13| sz 47 54| 101[27.6 | 73.4 45 43I S 49 55| 104|26.4 |77.6 50
HYRE 5 46 42 88| 14.4 | 73.6 15 44| KB B5F1 55 48| 103]25.2 | 77.8 47
158 & 44 44 88| 14.4 | 73.6 17 45 B IERS 51 52| 103]25.2 | 77.8 48
16 |48 IR 43 45 88| 14.4 | 73.6 18 46| B0 FHME 46 50 96| 18.0 | 78.0 38
175 B 48 44 92| 18.0 |74.0 32 4784 AT 57 57| 114/36.0 |78.0 55
18| H 46 51 97(22.8 | 74.2 40 A8 R PR 45 44| 89/10.8 | 78.2 20
19| FH 1% 46 44 90| 15.6 | 74.4 26 49 KK EE 43 46 89/10.8 |78.2 23
20LH HT 51 44 95(20.4 | 74.6 35 50| FH St 41 42 83| 3.6 |79.4 10
21 \AKS 251 44 45 89| 14.4 |74.6 21 51| K i 43 45 88| 8.4 [79.6 19
22| HF B 44 45 89| 14.4 | 74.6 22 52| ILgF Sl 54 51| 105/25.2 |79.8 51
23| L A 38 44 82| 7.2 |74.8 8 53| =R T 55 55| 110/30.0 |80.0 53
24| Pk fE— 44 56| 100|25.2 |74.8 43 54| 1L IR =R 46 44| 90| 9.6 |80.4 27
25 | |y 44 43 87| 12.0 | 75.0 12 55| A —H 56 61| 117/36.0 |81.0 57
26| F11E {5 =] 45 46|  91|15.6 | 75.4 29 56 1A B 58 51| 109|26.4 |82.6 52
27| F-H 2 45 52| 97/21.6 | 75.4 41 57| B .2 60 56| 116]31.2 |84.8 56
28|REEF = 50 53| 103|27.6 |75.4 49 58| [EF5 60 62| 122]36.0 |86.0 58
29|38)11 Bt 48 42] 90| 14.4 | 75.6 25 59|50 F 1 59 66/ 125/36.0 |89.0 59
30| I8 52 50| 102|26.4 |75.6 46
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